Economics II - Exercise Session, December 17, 2008

Problem 1: Suppose the demand function for corn is ) = 10 — 2p, and supply function
is Qs = 3p — 5. The government is concerned that the market equilibrium price of corn
is too low and would like to implement a price support policy to protect the farmers. By
implementing the price support policy, the government sets a support price and purchases
the extra supply at the support price. In this case, the government sets the support price

ps:4'

(a) Calculate the original market equilibrium price and quantity in absence of the price

support policy.

(b) At the support price p; = 4, find the quantity supplied by the farmers, the quantity
demanded by the market, and the quantity purchased by the government.

(c) Draw a diagram to show the change in the producer surplus due to the implementation

of the price support policy. Calculate the change in the producer surplus.

(d) Draw a diagram to show the change in the consumer surplus due to the implementation

of the price support policy. Calculate the change in the consumer surplus.

(e) Calculate the cost to the government to implement the price support policy. Draw

a diagram to show the government cost.

(f) Suppose now the government switches from price support policy to subsidy policy.
For each unit of corn produced, the government subsidizes the farmer s = % Find
the new equilibrium price under this subsidy policy. How much money will the

government have to spend in order to implement this subsidy policy?

Problem 2: Total cost function of an individual firm facing perfect competition is given

in short run by relation:

q3
TC = 3—4q2+21q

(a) Short run. Calculate the individual short run supply of this firm.

(b) Short run. Calculate the optimum of this firm if market price is p=5K¢? (p*; q*;

and corresponding profit/loss).



(c) Long run. Suppose now, that the same cost function applies to the long run and
this is a representative firm of industry. Calculate the long run equilibrium market

price (p};) and corresponding quantity produced by one firm (Q*).

(d) Long run. What will be the total number of firms in industry given that total
quantity demanded p}, (ad (c)) is 4207

Problem 3: Market demand is given by function: @) = 100 — P. Total cost function of
a monopoly is given by relation TC' = Q2.

(a) calculate the optimum of monopoly (P*; Q*; and corresponding profit).

(b) depict this optimum and profit on a graph (depict correct shapes/forms of cost

functions!); put numbers to it.

(c) suppose now, that government imposed tax t=10 to each unit sold. Tax is being

paid by the firm. Calculate the new optimum of monopoly (P*; Q*).

(d) depict this new optimum (P*; Q*) on a graph.

Problem 4: Bestmilk, a typical profit-maximizing dairy firm, is operating in a constant-

cost, perfectly competitive industry that is in long-run equilibrium.

(a) Draw correctly labeled side-by-side graphs for the dairy market and for Bestmilk

and show: Price and output for the industry; Price and output for Bestmilk

(b) Assume that milk is a normal good and that consumer income falls. Assume that
Bestmilk continues to produce. On your graphs in part (a), show the effect of the
decrease in income on each of the following in the short run: Price and output for

the industry; Price and output for Bestmilk; Area of loss or profit for Bestmilk.



